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34° 0.5592 0.8290 0.6745
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44° 0.6947 0.7193 0.9657
45° 0,7071 0,7071 1,0000
46° 0,7193 0,6947 1,0355

D 246 @ 967 ® 1760 @2462 ® 3240

B

tan 44 ° = 0.9657
cos46° = 0.6947

sin45° = 0.7071

. (tan44° + cos 46 ° — 2sin 45 °) x 10000

= {0.9657 + 0.6947 — (2 x 0.7071) } x 10000
= (1.6604 — 1.4142) x 10000 = 2462




33. & 1A AABC 9] HolE F5}H?

il

A
42°
.
B\\ -
“~-10cm -~ C
(afZtd|e] #)
T sin z cos T tan x
42° 0.66 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
® 33cm? @ 37cm? 3)45 cm?
@ 72cm? ® 90cm?

B

AC = xg} 514
/B=42°0]|B2 x=10xtan42°=10x0.9=9

e AABC 9] Holi= 10 x 9 X % = 45(cm?) ot}




